

Answers		
Questions:	Level 1	Level 2
1	True	54,098 + 92,356 = 146,454
2	i) 64,435 ii) 76,355	True
3	False as $65,218 + 2,703 + 30,192 = 98,113$	i) 49,307 ii) 77,071
4	Jody is correct because her total income was £17,834 which is £3 less than Lynette's income of £17,837	Emma is correct because $£30,837 + £10,865 = £41,702$, which is greater than Susie's total of 337,155.
5	<p>2b. Various answers, for example:</p>	Giselle's answer should be 115,730. In the hundreds column, she has exchanged twenty tens (200) instead of ten tens (100).